Precalculus: Sketching Circles, Ellipses and Hyperbolas Practice Problems

Questions
a? oy 2 2
1. Sketch by hand ry + T 1 and (x — 1)° + y* = 4 on the same set of axes, and use the sketches to solve the system
of equations
2 2
@ v,
9 16

(=12 +y* =4

Then check your solution to the system of equations by solving the system algebraically.
2. Sketch 36(x — 2)% + 4(y + 5)% = 144.
3. Show 922 + 4y? — 18z + 8y — 23 = 0 is an ellipse by completing the square. Then sketch the ellipse.

4. Sketch 25y — 922 — 50y — 54x — 281 = 0.
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Solutions
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2. Sketch 36(z — 2)% + 4(y + 5)? = 144.
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3. Show 922 + 432 — 18z + 8y — 23 = 0 is an ellipse by completing the square. Then sketch the ellipse.
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4. Sketch 25y? — 922 — 50y — 54x — 281 = 0.
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